ExE) T

mE: KR—50

KR—65
KR—75
KR—100
KR-50 KR-65
HRES B & B HE| N BaES EIRTE #H=2| N
1566001 | A4k (1) 1 1 1734100 | &{K(1) 1 1
1566002 | A{K(2) 1 2 1734115 | &K (2) 1 2
1566003 | /SMFN\UFIL 2 3 1567003 | /R4 TFN\UFIL 2 3
1566004 | #EY (Hv9) 2 4 1567004 | #&Y (Hv9) 2 4
1501006 | ElES 1 5 1501006 | EIfES 1 5
1566006 | T TFomRILE M10 X70 1 6 1567006 | ToTURILE M10 X90 1 6
1501005 | RFYLHEY 10 X 30AW 1 7 1501005 | RFYLHEY 10 X 30AW 1 7
1566008 | A—LwkEL(2) 1 8 1567008 | A—LwhkET(2) 1 8
1615545 | 7ILS/T 1 9 1615545 | ZJLS/T 1 9
1566010 | RFYLHTEY 6 X 28AW 2 10 1567010 | RFYLHTEY 6 X 28AW 2 10
N0 ATARIKR (1)1 & NoSTBIEES (&, FBFICRILTTSLY, MNo A TARIK(1) 1 & NoSTBIEES | (E, RIBFFICKILTT S,
KR-75 KR-100
HRES B & B HE| N BaES ERTE #=2| N
1567001 | A{K(1) 1 1 1568001 | ZA{K(1) 1 1
1567002 | &k (2) 1 2 1568002 | A{K(2) 1 2
1567003 | /SMFN\UFIL 2 3 1568003 | /R4 TFN\UFIL 2 3
1567004 | &Y (Hv9) 2 4 1568004 | &Y (Hv9) 2 4
1501006 | EIES 1 5 1501006 | ZIFES 1 5
1567006 | T FUmRILE M10 X90 1 6 1568006 | ToTURILE M10 X90 1 6
1501005 | RFYLHFEY 10 X 30AW 1 7 1501005 | RFYLSEY 10 X 30AW 1 7
1567008 | O—LwkE>(2) 1 8 1568008 | O—LwkE>(2) 1 8
1615545 | 7ILS/T 1 9 1615545 | 7JLZ/J 1 9
1567010 | RFYLHEY 6 X 28AW 2 10 1568010 | RFYLHEY 6 X 28AW 2 10

MNo.1TARIKR(1) 1 & NoSTEIFES | (d, FBFICRILTTELY,

HNo.1TARIK (1)1 & NoSTEIEES: | 1F. FIRFICKHLTTELY,

2023.2.10




